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Sketch each of the following functions:
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Expressing absolute value functions as piecewise functions:

Must first understand how a piecewise function works...

Consider the piecewise-defined function
N r+2, ifx <2,
f@) = gr,z ifz>2.
Determine each of the following:
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What would the sketch of this function look like?
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Given the function defined by the
rule

-3, ifr < -2,
g($}={1, if -2 <a <2,
3, ifxr>2
evaluate ¢(—3), g(—2), and g(5), then

draw the graph of g en-a-sheet-of-graph-
paper- State the domain and range of g.
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Let's try to express these absolute value functions as
piecewise defined functions...

If |x| =6
Remember the following:
' then x=6 x=-6

* Must examine the TWO possible cases that exist

y=|x+3|
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